0

I=q

2 EPEAFINEERF2FPRB L 22 LR € o5 éx
CPERF D 111E27 11p (B EPT ) =100
v 8L LO07 € 3% %
AR RpERRE

t".}ﬁ—“ﬁ PRI ERREERAGEL E D k)

L g RALS

= RAL R

10 : 00-10 : 10 IR 7

10 : 10-10 : 20 a3 AR

10 : 20-10 - 30 =% g\zi@/i—pﬁ; PHID 2,

10 : 30-10 : 50 1 7R 2,

10 : 50-11 : 10 T

11 : 10-11 = 30 Teps 5 2%

11 30 it

e REERER

() FHMERAIZERAS PN !

1Pl B EP A AT RE C40F § 22 21 R TY i

L5 FRF SR F L AT RIS B R4 Tl

VR ERRRE T B TRS

2. - B F 13 if]‘?w{f\tirﬁf EHR O HRLWPTAE S

=2
yt

ZREREP FFAFRZEFEAFRLRERE QP F oL
S NP
B AKR-BAIPIFEAFRATFINERE > BiREZ TP 2
LS ERSEPH B PERAL EREE AR

A B yRS FHBR B RUEE R 0 BB R C1 (T2 S S

1

N
7,



FERSGREAL FFECRELEHE FURFEIR G R

PR RG T OBk cp L

S R FRERE S ey o
(Z) 3B EE e TBES 2 s TR

() T RABES 22 0 AnT BuBEr 4§ 7§ 2aF

%HEF AR F R G FRPRLR T A g Rk LRI

LARME CEER o kB R RIS



